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37. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은? 

(A) This theory states that the universe expanded from a state 
of extremely high temperature and density at a particular 
point in time.    

(B) Though most of us turn to the science for an explanation 
of how the universe began, the arguments of Aquinas 
show that philosophy is still relevant to how we think 
about the subject.

(C) Instead we look to physics, in particular to the theory of 
the "Big Bang" proposed by modern scientists, including 
the British physicist and cosmologist Stephen Hawking. 

① (A) - (C) - (B)          ② (B) - (A) - (C)
③ (B) - (C) - (A)          ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

 Today, we do not look to philosophy to tell us whether 
or not the universe has always existed, and most of us 
do not turn to the Bible, as Aquinas and other medieval 
philosophers did. 
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제시문에서 오늘날 우리는 우주가 항상 존재해왔는지에 대한 답을 찾기 위해

철학이나 성경에 의존하지 않는다고 했다. (C)에서 Instead로 시작하여, 대

신에 우리는 물리학에 의존한다며 자연스럽게 제시문의 내용과 연결되고, (A)

는 This theory로 시작하여 (C)에서 나온 빅뱅 이론을 받아주고 그 내용을

구체적으로 설명하고 있다. 마지막으로 (B)에서는 비록 대부분의 사람들이 우

주의 시작에 대한 설명을 과학에서 찾지만, 철학은 여전히 우리가 우주를 어떻

게 생각하느냐와 관련이 있다며, 그 의의를 밝히고 있다.


